=
<

(0 @) (rad)

=
2
N

Ratio
— T

=
o
iN

2 3
¥ (pca tbeamiindf

S
IS}
o
2 101
=10
1072
10°H
o *-;’: : 04;
R 11 T
1_—‘:_ ,*‘6"'; Rl H L AR R
E i }-l - 005 + T
ot PHPHTET o - o
E ] LE T
10 1

2 3
TPlpoT (PCA t%obeamliné[f)

[—=— DQM_VUUUI_RUUUU000UT__Global__1
—e— DQM_V0001_R000000001__Global
—— DQM_V0001_R000000001__Global
—— DOM_V0001_R000000001__Global

CMSSW_CKIPUSU__RECO
CMSSW_mkFitPU50__RECO
__CMSSW_mkFitPUS0CowPtQuad__RECO
CMSSW_mKkFitPU50LowPtQuad-noBkwd__ RECO

SICEWATL

107}

1072

z

oo a,) (cm)

Ratio

o p/p.)

1072

1:_. - ; LN N £ S A
0.5: 25
107 1 1o

p, (PCA t]b beamllng'f)



	Contents
	Page 1


